Math 122 - Test 2 Oct 27 2011

Question 1 [10 points]: Use the definition of the definite integral in the form

/b f(x)dx = nll_)n;o 2”: f(x;)Ax
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Question 2:

(a)[3] Determine the average value of f(x) = I—EX—)S over the interval [1, e].
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(b)[3] Evaluate /12 3 —25x dx= T

LA s 35 l X=| D> W= -2

AT "S-‘AX xX= A = U= -3
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(c)[4] Evaluate / sec’x cos (tan x) dx.

Lt w= tanx
Ao = Sw’;C}'X AX
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Question 3 [10 points]: Evaluate

T = /(x2+l)cos(2x)dx
W= 'xi\ ; Av = cof (ax) et¥x
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Question 4 [10 points]: Evaluate

/3
/> tan®x sec*x dx
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Question 5: Determine
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